ML3T 2
4. %

Question Number : 82 Question Id : 4509387602 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

A particle starts from rest and moves m a straight line. It travels a distance 2L with uniform

acceleration and then moves with a constant velocity a further distance of L. Finally. it comes to

rest after moving a distance of 3L under uniform retardation. Then the ratio of average speed to the
maximum speed (%) of the particle 1s

2,8 $69:0 DTS 0B AODENTO HELTD NN SN, Sb Lo
2L 82000 508 &880 (0o, HeHn0 L Erdsnad N Sns'
DOSPEI0D0B. B 3L TG0 SO 20069 & NS |DOIPEIOD DTV

$2)08. & s N0 TS 00D eSS IS s A ()
m
Options :
=T
1.¢
11
2. %
11



Question Number : 83 Question Id : 4509387603 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

A boy throws a ball with a velocity 'V, at an angle ‘o’ to the ground. At the same time he starts

running with uniform velocity to catch the ball before it huts the ground. To achieve this, he should

run with a velocity of

2,8 arench 2.8 208V, FH0S § 82 N3P0 Berds a §0 TR VO,
O 00H0S rendh N SHod HHAB 208 AN 0K

JENTTODF0OD), & arend) Hio

Options :

V, Cos o
1.4

V, Sin «a
2. %

V, tan a
3. %

2
V, tana

Question Number : 84 Question Id : 4509387604 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0

Aball at point ‘0’ is at a horizontal distance of 7 m from a wall. On the wall a target is set at point
'C’. If the ball 1s thrown from ‘0" at an angle 37° with horizontal aiming the target ‘C’. But it luts

the wall at point ‘D’ which 1s at a vertical distance ‘y,” below C. If the wnitial velocity of the ball is
15ms~*. Find y, (given c0s37° = E)

0 ©F Do) 5P ) 208 AEH DS ArG0 7m. FeR C DOy 5
©552) APN0THD. 2083 ‘0’ HOcHY 0B §8R dsrosdo & 37° FHod
DN OO O, ‘T LT y, WY Bodie D Do) TE0E. 208

SO 3110 15 ms ™1 90N, g VNS (ms e g)

[ e e

T T T T T TR T T T T T T TR T W

Options :

2m

17 m
2.

1.5m

3 m
4, %



Question Number : 85 Question Id : 4509387605 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The acceleration of a body sliding down the inclined plane, having coefficient of friction 'y, is

W n0en heagsn o) Fen B 3020 8068 ) (sliding down) 9e)e)

005}, 8GN 2I€Nod

Options :

a = g(sinB + p cosB)

1. %

a = g(sin® — p cosB)
2.9

a = g(cosB — p sinf)
3 %

a = g(cosB + pusinb)
4. %

Question Number : 86 Question Id : 4509387606 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Abody of 2 kg mass slides down with an acceleration of 4 ms™2 on an inclined plane having slope

of 30°. The external force required to take the same body up the plane with same acceleration will

be (Acceleration due to gravity = 10 ms™%)

2 kg (335073 (10 2,8 Sy 4ms2 & 3560 30° S0 (1) AP SO

500 18008 2HNNA. AT Bi50NS, AT JDYD Ten By 8

205 TR 20 DN (HEDEA ¢ ¢ 380 = 10 ms™2)

Options :



8N

1. %

16 N
2. %

22N
3. %

20N
4.

Question Number : 87 Question Id : 4509387607 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Abody of mass 30 kg moving with a velocity 20 ms™* undergoes one dimensional elastic collision

with another ball of same mass moving in the opposite direction with a velocity of 30 ms™. After

collision the velocities of first and second bodies respectively are

30 kg (3035073 8O, 20ms™! SH0S HO0DNDNY 28 S0y, T (Se5073 EOR

0ms™ FMoS 80 OIS IOODNN) HOTE INHE A Vsl

AT DTS5 ZOVSE. @DIPB50 2O Shars, Inced HO0H TS

DY FTeN SR

Options :

25ms™ 1,30 ms™!
1. %

30 ms 1,30 ms ™!



30 ms™ 1,20 ms™?
3.¢

40 ms™1,15 ms™1
4. %

Question Number : 88 Question Id : 4509387608 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Aforce of (4i +2j + E) N is acting on a particle of mass 2 kg displaces the particle from a position

of (21 42j + E) m to a position of (4{ +3j4 2@ m. The work done by the force on the particle

i joules is

2 kg |335073 K0 28 Se0ed) aded NRATOMNY, (4i+2j+K) N 200 € 5edeyed

(2i+2j+K) m &3 T DHoD (4i+3j+2k) m ©OF TS0, T (P00

TOAODSE. €00 (DTN DL 89068, 580y DS 2EAN I FaeS
Options :

21]

1. %

11]
2. ¢

14]
3. %

18]
4. %



Question Number : 89 Question Id : 4509387609 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Two blocks of equal masses are tied with a light string passing over a massless pulley (Assuming

frictionless surfaces) acceleration of centre of mass of the two blocks is (g = 10 ms™?)

Boch N (Gzomhen e ey BO5FE TEod 2rddired Sa) M
HR0ES BFHAGBIED E0NAABNE. Seren UYRBRS ©H5R, & Tok Bxne
5:9507350(50 GBE), ¢ 55690 $eDFS0B (g = 10 ms™?)

Options :

5(v3 — 1)

2

5(1@ — 1)

242
2. ¥

5 (*JE + 1)
22

5(v3-1)
V2



Question Number : 90 Question Id : 4509387610 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

A ring and a disc of same mass and same diameter are rolling without shippmg. Their linear

velocities are same. then the ratio of their kinetic energy is
T | D5TPHEN aDGOD ) TN 50 2,8 50580 HOA YT SE Dy

e 3657 BN IS ZEK0T SDHTION. 6 HBBFHO A8

Options :

1.33

0.5

2.66

Question Number : 91 Question Id : 4509387611 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The displacement of a particle of mass 2g executing simple harmonic motion 1s
x = 8cos (SUt & %) m, where t 1s time in second. The maximum kinetic energy of the particle is
NS wroreh) oo DAY 2g (ON0 do 28 $mo Yiodo

P 5or+%) m, 386 t OO DK0AOS” oS AFDD), {90 T,

16 19 48



Options :

160 ]
1.¢

80]
2. %
L« 20]
4, % 203

Question Number : 92 Question Id : 4509387612 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The relation between the force (F i newton) acting on a particle executing simple harmonic motion

and the displacement of the particle (y in mefre) is 500F + ny = 0.1f the mass of the particle is

2 g. the time period of oscillation of the particle 1s
N6 308 D050 TAMLNS) 28 903 HATANS) VOO(E S50 )
)80 8620 %5 (25050 (v D &) a3 022050 S00F + my = 0. 8630 (9655073

2 ©0NS §0 BO U 500

Options :

8s
1. ®

6s



2s

43

Question Number : 93 Question Id : 4509387613 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The gravitational potential energy of a body on the surface of the earth 1s E. If the body 1s taken

from the surface of the earth to a height equal to 150% of the radius of the earth. its gravitational

potential energy is

257 GO0 28 IeDa) 1HEE § Ve 3 E. & Dol 27 &dBed0 a0 2P

o

FEPTDR 150% o) ERSE) BenED 39, @&)ch S0 Hthed s Dedes 48
Options :

1 0.4 E

02E

0.6 E

i E
4, *

Question Number : 94 Question Id : 4509387614 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Awire of length 100 cm and area of cross—section 2 mm? is stretched by two forces of each 440 N
applied at the ends of the wire in opposite directions along the length of the wire. If the elongation

of the wire 15 2 mm. the Young's modulus of the material of the wire 1s

100 cm &7C8ed) SOOI 2 mm? DT FFO50 (i) 2.8 i) 2572.5),63 440N (i
B0 e B DGO SO Al k) Foad SAD% oS |HRFAOTE.
S MDA 2 mm a0 & ST R Heo

Options :

44 % 101 INm—2

1. %

1.1 X 101 1Nm™2
2.

2.2 x 10" *Nm™?
3. %

3.3 x 1011 Nm™2
4. %

Question Number : 95 Question Id : 4509387615 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Two cylindrical vessels A and B of different areas of cross—section kept on same horizontal plane
are filled with water to the same height. If the volume of water in vessel A 15 3 times the volume of

water in vessel B. then the ratio of the pressures at the bottom of the vessels A and B is

D8, DL ITEFEEN (16) ADBOMN B @96 BO QUPES 2P0 2.3 § 823
Jrod 003 G0D 28 B S3H ABS AorH. S A S 3 N
HBPE0 2P B SR N 0 HOTE 3 BEY @ond, A HOGM B e

9N BT D)

Options :

1:1
1.4

1:3

1:9

1:6

Question Number : 96 Question Id : 4509387616 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Water of mass m at 30 °C 1s mixed with 5 g of ice at —20 °C. If the resultant temperature of the
mixture is 6 °C, then the value of m is (specific heat capacity of ice = 0.5 cal g™ °C™*, specific
heat capacity of water =1 cal g™ °C™* and latent heat of fusion of ice =80 cal g %)
30 °C 93 110 m (¢33 07 150 3 —20 °C I K10 5 g 0TS EOPE. (e O
¢sf (196 6 °C, @900, m DS (MO N e Gs0=05 cal g™ oCt ALY DA
050 =1 cal g™t oCt B0 S0 (BB D0 =80 cal g2



Options :

48 ¢
1. %

20g
2.

24¢g
3. %

40¢g
4, %

Question Number : 97 Question Id : 4509387617 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Two 1deal gases A and B of same number of moles expand at constant temperatures T1 and T
respectively such that the pressure of gas A decreases by 50 % and the pressure of gas B decreases

by 75 %. If the work done by both the gases 1s same, then T1:T»
06 &SP eden Ty OO Ty G 25 O © oD SO Toch B8 Fa)en
ABAMN B, TANY A D0 50 % T DO DBAM ar0iNe) B A0 75 % 1]

DO 35190 TOATOW . FOCH aPAINHE T 2R TS, Tr:T)

Options :
=3
1. %
2:3



Question Number : 98 Question Id : 4509387618 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

When 80 J of heat is absorbed by a monotonic gas. ifs volume increases by 16 x10° m’. The

pressure of the gas 1s

28 )8 D0ITeE AN 80 T GaFR)) N0V TR a0 16 x107 m?

287D, 900 FoiNe b0

Options :

I

g -
<10° Nm™

4 x10° Nm™

2. %

6 x10° Nm™
3. %

5 «10° Nm™
4, %

Question Number : 99 Question Id : 4509387619 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The efficiency of a Carnot heat engine is 23 % and the temperature of its source is 127 °C. Without

changing the temperature of the source. if absolute temperature of the sink 1s decreased by 10 %.

the efficiency of the engine 1s

2,8 520 D00 (8 25 % HOKM T SarFo0 Gaf|ifed 127 °C. &TFOHO
&SP fede) oS )00T, FBETFFODO e &F|15e5 10 % SO, B[O (58 ¢

Options :

27.5%
1. %

Question Number : 100 Question Id : 4509387620 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The total internal energy of 2 moles of a monatomic gas at a temperature 27 °C 1s U. The total

mternal energy of 3 moles of a diatomic gas at a temperature 127 °C is
27°C easf|1ied 50 2 IO © ¥ NGATEDE TASa) IS0 ©0dBEIS U.127°C
o165 30 3 IO © & 500STENS TN IS0 ©0ehHEHS

Options:

u
1. %



100

v 3
2U
3. %
2U
sx 3

Question Number : 101 Question Id : 4509387621 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The fundamental frequency of an open pipe is 100 Hz. If the bottom end of the pipe is closed and

1 w . : o

Erd of the pipe is filled with water, then the fundamental frequency of the pipe is

28 BOD dr) MO [0S eayds0 100Hz RO 1§06 ASEH v, =
506 PR AES 0 Y0 PEDE Fredea)igo

Options :

200 Hz
1. %

100 Hz

75 Hz
3.v

150 Hz
4. %



Question Number : 102 Question Id : 4509387622 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

When a convex lens 1s immersed in a liquid of refractive index equal to 80% of the refractive index

of the material of the lens, the focal length of the lens increases by 100%. The refractive index of

the liquid 1s

8638 ey 2982508 teasE 80% od|S 25553 theago e 2,8 1308 28 $o0275
EE35:50008) 00D, §638 28506550 100% DOTD. (0 S8 Zeded Heago

Options:

1.27
1. %

12
2. ¢

133

1.4

Question Number : 103 Question Id : 4509387623 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The angle between the axes of a polariser and an analyser is 45°. If the intensity of the unpolarized

light ncident on the polariser is [, then the ntensity of the light emerged from the analyser 1s
2,8 936950 OO 28 DFNDTO BT S5 S0 45°. (BYIeTO3 HBIHS

959 508 B¢ 1 NS, DBATE HOB VT TS FOE e3(aded



Options :

21
1. %
I
2
2. %
1
3. %
I
4
4, &

Question Number : 104 Question Id : 4509387624 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The magnitude of an electric field which can just suspend a deuteron of mass 3.2 x 10727 kg freely

10 air is

159695078 32 %10 kg fio> 3T D OS DT oo S 3

201720

Options :

19.6 x 1078 NC?
1. ¢

196 NC~1

196 x 1071° NC
3. %



0.196 NC™1

Question Number : 105 Question Id : 4509387625 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Two charges 5 nC and —2 nC are placed at points (5 cm, 0,0) and (23 cm, 0, 0) in a region of space

where there 15 no other external field. The electrostatic potential energy of this charge system is

30ch S37°e0 51nC SDOAM —2nC O (5 em,0,0) HBOI (23 em, 0,0) DONYE)
S0 AENH0E3 27753 |80 B @0STF0 Bg) NOAS G0, & &S S50

Tty G A ey
Options :

50 %1077

ax 1077 ]

15 x 1077 ]

25 x 1077

Question Number : 106 Question Id : 4509387626 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The space between the plates of a parallel plate capacitor is halved and a dielectric medium of

relative permuttivity 10 is mtroduced between the plates. The ratio of the final and initial

capacitances of the capacitor 1s

28 Jrodd 0L SIAND oo s Arow) g dlod, s

2883283 10 i) ¢S5, O D &OTED. BON, TG e HBAMH $)
TrADR) O A
Options :

20
1.4

10

Question Number : 107 Question Id : 4509387627 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
A battery of emf 8V and internal resistance 0.5 () 15 being charged by a 120 V dc supply vsing a

sertes resister of 15.5 (. The terminal voltage of 8 V battery during charging is

8V emf OO 0.5 0 ©08) 50 EOAN 2.8 arseBed 120V de SENTS 1550
(363 DBESE0 ErA0D B3390 T N0HoeS 8V 2rstad By 8 4,82

Options:



115V

1.¢

1.15V
2. %

115V
3. %

0.5V
4. %

Question Number : 108 Question Id : 4509387628 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Resistance of a wire s 8 (). It 15 drawn in such a way that it experiences a longitudinal strain of

400%. The final resistance of the wire is
2,8 if BB0%) DTG0 8.0. @8 400% TS NEyBE S orr eriadIe.
@08 & & DB
Options :
100 0

1. %

200 Q
2.

300 Q

400 Q
4. %



Question Number : 109 Question Id : 4509387629 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Current flows in a conductor from east to west. The direction of the magnetic field at a point below

the conductor is towards

28 P80 DS drdd) od HAHE 32 Sarod, aargo (§od fie

AN INATS oW YL T YA

Options :

North
GO0 Jo) OLNOD

1. %
South

- 55690 R OLNOD
East

- AP ) Da)) CTOELNOE
West

. DCING Do) COENOE

Question Number : 110 Question Id : 4509387630 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Two mfinite length wires carry currents 8 A and 6 A respectively and are placed along X and ¥

axes respectively. Magnetic field at a point P (0,0, d) will be

v,

DS (TN 8 4 NBAN 6 4 i) T ©I0e &rcda) (10 ien SEIT X

B ¥ 950 302G G0GTON. P (0,0,d) ©F D0 & 9aHRI06 S (¢

‘5\ oo
e3[a)e
Options :
7 Ho
nd
1. #
10 o
d
2. %
14 py
d
3. %
5 Uy
nd
4.

Question Number : 111 Question Id : 4509387631 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A short magnet oscillates with a time period 0.1 s at a place where horizontal magnetic field 1s
24 uT. A downward current of 18 A 1s established in a vertical wire kept at a distance of 20 cm
east of the magnet. The new time period of oscillations of the magnet i

882 Hrod8 eahary0 30 24 uT S Borren T, &6 @ohar;080
308y BOTHES 00 0.1, (800 Fay 184 DS DT o) 2,8 Devs) &,
P oo 0mds SRy 20 m GrdoS Hovatod. I

S0HA, 0630 BOT' BE) P BTSN
Options :
0.1ls

1. %

0.089 s

0.076 s
3.¢

0.057 s

Question Number : 112 Question Id : 4509387632 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A metallic wire loop of side (/) 0.1 m and resistance of 10} is moved with a constant velocity in a
uniform magnetic field of 2 Wm™ as shown in the figure. The magnetic field is perpendicular to
the plane of the loop. The loop 1s connected to a network of resistors. The velocity of loop so as to

have a steady current of 1mA n loop 1s

$H20 () 01m 6O DGO 10 e S 2Wm? B fo NS
@006 T1$0S HEOS RS VY Fod HOFod. @ahr06 3 (do
AN) BerAs ©00T J0b. SN AT SOAFIE §0NaG00. SiES
1mA DENEE DOSGT (NeSerome ot sifdhe) 3o

X X X X X X X

l

X X X XX X X

3Q

Options :

067 cms !

2cems b

2. &

3cems?

3. %

4cems?

Question Number : 113 Question Id : 4509387633 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

In the circuit shown in the figure, neglecting the source resistance. the voltmeter and ammeter

readings respectively are

806 SOOH0S, 2% DB, DBV, &0 M B @t Béohen

DT
(V)
U
R=300 X=25Q X=25Q)
M0V
Options :
O0V,8A
1.4
150V,3 A
2 %
150V, 6 A
3 %
0V,3A
4, %

Question Number : 114 Question Id : 4509387634 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The radiation of energy ‘E” falls normally on a perfectly reflecting surface. The momentum
transferred to the surface is

' 45 10 D8GEPeN D0PE DTEE 00 2 AQAENYT DSTR0D), eherRs
20 s 15530

Options :
E
1.2 €
2F
c
2. ¢
E
ek
3. % :
ZE
=)
4, %

Question Number : 115 Question Id : 4509387635 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Light of wavelength 40004 is incident on a sodinm surface for which the threshold wavelength of

photo electrons is 5420A. The work function of sodfum is

40004 éd%0if TY50 fie 508 FAOHO B0 NdJT0E. FHONO SerS
235025 30(F T30 54204 SOVS TR DA (NNODO J0H?

Options :



4.58 eV

2.29 eV
2. ¢

1.14 eV

0.57 eV
4. %

Question Number : 116 Question Id : 4509387636 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The principle quantum number ‘n’ corresponding to the exited state of He™ ion. if on transition fo

the ground state two photons in succession with wavelength 1026 A° and 304 A° are emitted

(R=1.097x 10" m™)

B3 QBO oJ) Het @O B8 H05350 ToBSYD ST 1026 4°

0050 304 A° SEOHTTIEN (10 SFErS O G, Het ©OIRS (5P 5060

QODE 7 Do)

(R=1097x 10" m™?)

Options:
2
1. #
3
2. %

3.¢



Question Number : 117 Question Id : 4509387637 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Which physical quantity 1s measured in bamn

D 27DE T3 27D O TN

Options :

Radius of the nuclel

So85%0 srdo
1. % )
Pressure 1n a liquid drop
16569 DOCDHES D D50
2. %
Scattering cross-section
DOT D NEFT I
3.¢
Rate of flow of liquid
1S53 BEX
4. ®

Question Number : 118 Question Id : 4509387638 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Truth table for the given circuit is
93 5035 SHOHO TN DehgHEY

A

I )

1

Options :
AlB|Y
g (81
0[1]0
I |81
1 (11
1. %
AIB|Y
010 |1
e SR
1 10]0
SRESEE
2. %
AIB|Y
AR I |
0 (1|1
1 101
1 |1]1
3.¢



AR Y
01010
g |1 |1
1 |01
| |

Question Number : 119 Question Id : 4509387639 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

If R, and Ry are respectively the resistances of m collector and base sides of the circuit. and f is

the current amplification factor. then the voltage gain of a transistor amplifier in common emitter

configuration 1s

R, 08050 Rg €0 AN 8663, 8560 34) S0 &) e HBK
DT NS 650 B OB, G636 GTPE DTEN0S 170) 116 SG80 ST S50

Options :
BRcRp
1. %
&
RcRp
2. %
PRp
Rc
3. %
BR¢
Rg

4.+



Question Number : 120 Question Id : 4509387640 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Which one of the following is not classified as pulse modulation

BOB DN A 3 HY0D ATERITBAS 5°60?
Options :

Pulse duration modulation

DO €958 STCHEBAR

1. &

Pulse Amplitude Modulation

L x RIOOS EO HONS S IBAS

Pulse band Modulation

L, D08 D83 530 sTAS

Pulse position Modulation

DO TS S FBAR

4, %
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